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MANATIQTOY HAIAZ ENEY
Dx[Ox| 1| 12 14,00 800| O 0 0 0 0 0 280,001 0 |Oxi| 1]|Oxi| 1.080,00] 1
NMATEPAKHZ KQONZTANTIXAPI
Dx[Ox| B | 12 2 60 |800| O 0 0 60 0 0 0,00 | 420 [Oxif B|Oxi] 1.280,00] 2
TZETZAZ AMOZTOAO|NMANA
Dx[Ox| B | 12 1 60 |800| O 0 0 30 0 0 0,00 | 420 [Oxif B |Oxi] 1.250,00] 3
NMOYPNAPAZ NIKOAAOZ | XPH3J
Dx[Ox| B | 12 1 60 |800| O 0 0 30 0 0 0,00 | 420 [Oxif B|Oxi] 1.250,00] 4
NTABAKOZ IQANNHZ |AlNO3
Dx|Ox| B[ 12 1 60(800| O 0 0 30 0 0 0,00 | 420 [Oxif B|Oxi] 1.250,00] 5
POAHZ OPAXZYBOY{AEQN
Dx|Ox| B[ 12 2 511800 O 0 0 60 0 0 0,00 | 357 [Oxif B|Oxi] 1.217,00] 6
NATIAZ MIXAHA OEO
Dx|Ox| B| 8 60 |500| O 0 0 0 0 0 0,00 | 420 [Oxif B|Oxi] 920,00 7
NTAAITTHZ MIXAHA BAZI
Dx|Ox| B 60l O] O 0 0 0 0 0 0,00 | 420 [Oxif B|Oxi] 420,00 8
KONAYAHZ IQANNHZ  |AHMK
Dx|Ox| I 1 221 0| O 0 0 30 0 0 0,00 | 154 [Oxif ' |Ox1] 184,00] 9
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